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Checkpoint 11

0      1      2      3      4      5      6      7      8      9

Fill in the missing numbers then colour the number bonds to match your rainbow.

Lesson 92
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9 - 3 = ______

9 - 1 = ______

9 - 4 = ______

9 - 2 = ______

9 - 7 = ______

9 - 5 = ______

9 - 4 = ______

9 - 6 = ______

9 - 8 = ______

1 + 2 = ______

2 + 2 = ______

8 + 1 = ______

3 + 2 = ______

6 + 4 = ______

3 + 6 = ______

4 + 6 = ______

2 + 8 = ______

2 + 3 = ______

6 + 3 = ______

7 + 2 = ______

3 + 7 = ______

4 + 1 = ______

1 + 1 = ______

4 + 5 = ______
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Checkpoint 12

Fill in the missing numbers.

Count by tens.  Start with the number 10.

50-60Write the number sequence from 50 to 60 on the number line.

Lesson 96
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Rearrange the numbers in each box so that they are in order from smallest to biggest.

2 + 1 = ______

2 + 7 = ______

4 + 6 = ______

2 + 8 = ______

3 + 1 = ______

8 + 2 = ______

1 + 1 = ______

0 + 9 = ______

8 + 1 = ______

9 + 1 = ______

5 + 4 = ______

7 + 2 = ______

3 + 2 = ______

1 + 9 = ______

6 + 4 = ______

23 20 21 45 46 49

24 22 27 50 38 20
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CHECKPOINT 13

0     1     2     3     4     4     5     6     7     8

3 1 4 2

6 4 7 5

Join the train engine to the carriage that makes 8.

Make a rainbow for the number 8. Use a different colour for each line.

Lesson 108



63

2 + 1 = ______

1 + 3 = ______

1 + 7 = ______

3 + 1 = ______

1 + 9 = ______

5 + 4 = ______

8 + 0 = ______

4 + 5 = ______

3 + 6 = ______

3 + 7 = ______

2 + 6 = ______

2 + 3 = ______

4 + 1 = ______

8 + 2 = ______

5 + 5 = ______

7 + 2 = ______

9 + 1 = ______

1 + 4 = ______

6 + 2 = ______

6 + 3 = ______

4 + 4 = ______

1 + 8 = ______

3 + 5 = ______

8 + 1 = ______

1 + 1 = ______

1 + 2 = ______

2 + 8 = ______

4 + 6 = ______

2 + 2 = ______

3 + 2 = ______

2 + 7 = ______

7 + 3 = ______

6 + 4 = ______
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CHECKPOINT 14

Colour the fraction of  each shape indicated.

1

Lesson 112
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1 + 8 = ______

7 + 2 = ______

1 + 7 = ______

3 + 7 = ______

8 + 1 = ______

6 + 4 = ______

6 + 2 = ______

1 + 1 = ______

2 + 6 = ______

3 + 1 = ______

5 + 3 = ______

2 + 7 = ______

5 + 4 = ______

8 + 2 = ______

2 + 2 = ______

Write the fraction of  each shape that is shaded.
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Checkpoint 15

3 + 1 = ______

6 + 1 = ______

2 + 8 = ______

4 + 6 = ______

3 + 7 = ______

6 + 4 = ______

4 + 3 = ______

2 + 3 = ______

7 + 1 = ______

5 + 4 = ______

7 + 2 = ______

7 + 3 = ______

5 + 3 = ______

8 + 0 = ______

6 + 3 = ______

2 + 7 = ______

7 + 0 = ______

2 + 6 = ______

4 + 4 = ______

3 + 6 = ______

5 + 2 = ______

6 + 2 = ______

3 + 2 = ______

1 + 9 = ______

1 + 8 = ______

2 + 2 = ______

2 + 5 = ______

8 + 2 = ______

9 + 1 = ______

3 + 4 = ______

Lesson 120
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Draw a seven rainbow.  Use a different colour for each line. 

0        1        2        3        4       5       6       7

Make number bonds to match your rainbow. Use the same colours.

I hope you had fun this term and learned lots of new 
things. See you over in book 4 where we'll start off by  
measuring things.


